Year 2 Maths - ANSWERS

Section 1

Gina and Milly equally shared
out a bagful of cherries. There
was one left over. Both girls had
12 cherries.

How many cherries would have
been in the bag?

25 ‘

Section 2

Fill in the missing boxes:

60-‘26 = 34

Section 3

Complete these statements:

7of20is 10
Fof 0is 5
*of20is 15

”~

Section 4

How many 10ps would you need to make £2?

20

Section 5

Which times table are these numbers
_from?

Section 7
Addition Pyramid

socks are there altogether?

Tip: The bottom numbers add together to make the

5 20 15 35 40 55 top number.
5x table
. -
27
r N
Section 6
If I count 12 pairs of socks, how many 12 15

24

Section 8

How many minutes are there in 2 hours?

l 120

. -
How many minutes are there in 15 hours?

l 90

Show your working out.



